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Name: __________________________________


1
Functions f, g, and h are given below.

[image: image1.png]fx) = sin(2x)
g(x) = x)+ 1




[image: image2.png]h(x)
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Which statement is true about functions f, g, and h?

	1)
	[image: image3.png]


 and [image: image4.png]a(x)



 are odd, [image: image5.png]


 is even.
	3)
	[image: image6.png]


 is odd, [image: image7.png]a(x)



 is neither, [image: image8.png]


 is even.

	2)
	[image: image9.png]


 and [image: image10.png]a(x)



 are even, [image: image11.png]


 is odd.
	4)
	[image: image12.png]


 is even, [image: image13.png]a(x)



 is neither, [image: image14.png]


 is odd.



2
The graph of which equation is symmetric with respect to the origin?

	1)
	[image: image15.png]



	3)
	[image: image16.png]




	2)
	[image: image17.png]



	4)
	[image: image18.png]Y= COSX







3
Which graph has line symmetry with respect to the y-axis?

	1)
	[image: image19.png]



	3)
	[image: image20.png]




	2)
	[image: image21.png]



	4)
	[image: image22.png]y = tanx







4
Which function is even?

	1)
	[image: image23.png]Ax)=x+2




	3)
	[image: image24.png]




	2)
	[image: image25.png]



	4)
	[image: image26.png]






5
Which function is even?

	1)
	[image: image27.png]flx) = sinx




	3)
	[image: image28.png]




	2)
	[image: image29.png]



	4)
	[image: image30.png]Ax)=xt+ 357 + 4







6
Which equation represents an odd function?

	1)
	[image: image31.png]



	3)
	[image: image32.png]




	2)
	[image: image33.png]Y= COSX




	4)
	[image: image34.png]






7
If [image: image35.png]


 is an even function, which function must also be even?

	1)
	[image: image36.png]



	3)
	[image: image37.png]




	2)
	[image: image38.png]



	4)
	[image: image39.png]Ax+1)+3







8
For [image: image40.png]flx) = cosx



, which statement is true?

	1)
	[image: image41.png]


 and [image: image42.png]


 are even functions.
	3)
	[image: image43.png]


 and [image: image44.png]


 are odd functions.

	2)
	[image: image45.png]


 and [image: image46.png]


 are odd functions.
	4)
	[image: image47.png]


 is an odd function and [image: image48.png]


 is an even function.



9
Can [image: image49.png]Ax)=x+7



 be classified as an odd function?  Justify your answer.

10
The entire graph of [image: image50.png]


 is symmetric with respect to the origin.  If the accompanying graph represents [image: image51.png]


 for [image: image52.png]


, sketch, on the same set of axes, the graph of [image: image53.png]


 for [image: image54.png]


.



[image: image55.png]





1
ANS:
3

[image: image56.png]Az ==Ax)



, so [image: image57.png]


 is odd.  [image: image58.png]g(—x) = g(x)



, so [image: image59.png]a(x)



 is not even.  [image: image60.png]g(-x) = —g(x)



, so [image: image61.png]a(x)



 is not odd.  [image: image62.png]


, so [image: image63.png]


 is even.
REF:
fall1502aii

2
ANS:
3
REF:
018929siii

3
ANS:
2
REF:
068120siii

4
ANS:
2

[image: image64.png]



REF:
082323aii

5
ANS:
2

[image: image65.png]J&) =%
X -4= (-2 -4

X —4=x'-4




REF:
061806aii

6
ANS:
1

The graph of [image: image66.png]


 is unchanged when rotated 180º about the origin.
REF:
081614aii

7
ANS:
2
REF:
081911aii

8
ANS:
1
REF:
062318aii

9
ANS:


No, because a 180º rotation of f about the origin does not map f onto itself.
REF:
062432aii

10
ANS:


[image: image67.png]



REF:
060821b

